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Run 5728 mpswise, accO: All
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Enilries: 251 7&0D
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Run 5728, mpswise, acc0: Beam ON, Laser ON

Enitries: 168717

Mean: 13,2810 «/- L0026

Sid Dey: 09946 - 00078
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Run 5728 mpswise, acc(: Beam OFF

Eniries: 4740

Mean: -0.1909 &/ - 00021

Sid Dev: 01468 - 0.0015
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Run 5728, mpswise, acc0: Beam ON, Laser OFF

Enitries: 81848

Mean: 13693 +- D10

Sid Dev: 0U2EEZ - 0.0007
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Run 5728 mpswise, BCM: All

Enilries: 251760

Mean: 145.5419 +/- 0.0430

Sid Dev: 21.56719 +/- 0L0304
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Run 5728, mpswise, BCM: Beam ON, Laser ON

— Enitries: 168717

Kean: 1489823 +/- 0.0015

Sbd Drew: 07400 +- 0.0071
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Run 5728 mpswise, BCM: Beam OFF

Eniries: 47409

Meari: 0000712 4/~ 00005

Sid Dev: 0L03TE +- 0.0004

Run 5728, mpswise, BCM: Beam ON, Laser OFF

Enitries: 81848

Mean: 14096858 +/- 0.0030

Sid Dev: 0701 +- 0.0022
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Run 5728 mpswise, lasPow: All
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Endries: 251760

Mhzan: 1455.0069 4« 21883
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Run 5728, mpswise, lasPow: Beam ON, Laser ON
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Enitries: 168717

Mean: Z268.0204 /- 03429

Sbd Dy 1368005 +/- 0.2425
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Run 5728 mpswise, lasPow: Beam OFF
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Endriea: 4749

Maan: 942.0818 +- 151535

Sid Dw: 10442712 45 10,715
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Run 5728, mpswise, lasPow: Beam ON, Laser OFF

Enitries: 81848

Mean: 29347 4/~ 0L0A03

Sid Dev: BES11 +- 00214
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Run 5728 mpswise, bpmAx: All

1

Entries: 251760

Mean: 00877 «f- 00001

Std Dery: 0.0494 - 00001

Run 5728, mpswise, bpmAx: Beam ON, Laser ON

Enitries: 168717

Mean: -0.0815 o/ 00000

Sid Dey: 00056 +- 0.0000
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Run 5728 mpswise, bpmAx: Beam OFF

- Eniries: 4740

Mearn: -0.4072 «/- DUDO22

Shd Dew: 01813 - 00078

Run 5728, mpswise, bpmAx: Beam ON, Laser OFF

Enitries: 81848

Mean: -0.0812 </ - 00000

Sid Dev: 00059 - 0.0000
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Run 5728 mpswise, bpmAy: All

Entries: 251760

Mean: 05500 +- 0.0004

Std Dery: 0.07AT - 00001

Run 5728, mpswise, bpmAy: Beam ON, Laser ON

Enitries: 168717

Mean: 05590 +- 0.0004

Sid Dev: 00247 4~ 00000

Run 5728 mpswise, bpmAy: Beam OFF

[ Entries: 4748
300 [ Mean: 0.0802 +/- 00029
— Sid Dev: 0.1983 4~ 0.0020
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Run 5728, mpswise, bpmAy: Beam ON, Laser OFF
12000 B Entries: 81848
B Mean: 0.5587 +/- 0.0001
10000 B Sid Dev: 0.0243 +- 0.0001
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Run 5728 mpswise, bpmBx: All Run 5728 mpswise, bpmBx: Beam OFF
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Run 5728, mpswise, bpmBx: Beam ON, Laser ON Run 5728, mpswise, bpmBx: Beam ON, Laser OFF
12000 — Entries: 158717 4500 f_ Entries: 81848
— Mean: 00741 +- 0.0000 [ Mean: 00743 «/- 0.0000
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Run 5728 mpswise, bpmBy: All Run 5728 mpswise, bpmBy: Beam OFF
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Run 5728, mpswise, bpmBy: Beam ON, Laser ON Run 5728, mpswise, bpmBy: Beam ON, Laser OFF
an00 f_ Entries: 158717 12000 — Entries: 81848
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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Run 5728 mpswise, beam ON, laser ON
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Run 5728 mpswise, beam OFF, laser ON
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Run 5728 mpswise, beam ON, laser OFF
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Run 5728 mpswise, beam OFF, laser OFF
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